

# **Summary of Bids Received**

**Project:** Petite Lake Road Reconstruction

Section: 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

Bidder Berger Excavating Contractors Campanella & Sons, Inc. Lake County Grading Company Maneval Construction Co Inc. A Lamp Concrete Contractors, Inc.	Address 1205 Garland Road 39207 N Magnetics Blvd 32901 N. IL Rte 21 28090 West Concrete Drive 1900 Wright Blvd	City, State, Zip Wauconda, IL 60084 Wadsworth, IL 60083 Libertyville, IL 60048 Ingleside, IL 60041 Schaumburg, IL 60193	Bond Bid Bond Bid Bond Bid Bond Bid Bond Bid Bond	Bid Price \$1,151,010.28 \$1,228,164.69 \$1,350,000.00 \$1,525,766.79 \$1,780,096.38	-14.43%	-\$85,316.10 \$90,450.69
Engineer's Estimate				\$1,435,316.10		
Design	IDOT(2)	Contract Bidder		PT then Plan Rack		
Finance	Bid Tab File	Resident Eng.		Administrative Assis	stant	
Construction	Project File	Request By Mail		Mgr Capital Progran	mming	



Project: Petite Lake Road Reconstruction

Section: 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti		Berger Excavatin	g Contractors	Campanella 8	,	Lake County Gra		Maneval Const		A Lamp Concrete	Contractors, Inc.
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	588.0	UNIT	\$12.00	\$7,056.00	\$18.00	\$10,584.00	\$18.90	\$11,113.20	\$18.00	\$10,584.00	\$18.90	\$11,113.20	\$22.00	\$12,936.00
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	423.0	UNIT	\$18.00	\$7,614.00	\$28.00	\$11,844.00	\$29.40	\$12,436.20	\$28.00	\$11,844.00	\$29.40	\$12,436.20	\$25.00	\$10,575.00
3	20101200	TREE ROOT PRUNING	30.0	EACH	\$75.00	\$2,250.00	\$80.00	\$2,400.00	\$84.00	\$2,520.00	\$80.00	\$2,400.00	\$84.00	\$2,520.00	\$50.00	\$1,500.00
4	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	20.0	EACH	\$40.00	\$800.00	\$80.00	\$1,600.00	\$84.00	\$1,680.00	\$80.00	\$1,600.00	\$84.00	\$1,680.00	\$50.00	\$1,000.00
5	20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	10.0	EACH	\$50.00	\$500.00	\$140.00	\$1,400.00	\$147.00	\$1,470.00	\$140.00	\$1,400.00	\$147.00	\$1,470.00	\$50.00	\$500.00
6	20200100	EARTH EXCAVATION	5,006.0	CU YD	\$25.00	\$125,150.00	\$23.50	\$117,641.00	\$35.50	\$177,713.00	\$22.00	\$110,132.00	\$31.77	\$159,040.62	\$40.00	\$200,240.00
7	20400800	FURNISHED EXCAVATION	3,448.0	CU YD	\$25.00	\$86,200.00	\$0.01	\$34.48	\$0.01	\$34.48	\$0.01	\$34.48	\$4.28	\$14,757.44	\$1.00	\$3,448.00
8	20800150	TRENCH BACKFILL	238.0	CU YD	\$60.00	\$14,280.00	\$38.00	\$9,044.00	\$43.40	\$10,329.20	\$28.00	\$6,664.00	\$49.56	\$11,795.28	\$40.00	\$9,520.00
9	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	7,520.0	SQ YD	\$2.00	\$15,040.00	\$1.25	\$9,400.00	\$1.95	\$14,664.00	\$2.00	\$15,040.00	\$1.18	\$8,873.60	\$1.00	\$7,520.00
10	21101615	TOPSOIL FURNISH AND PLACE, 4"	10,657.0	SQ YD	\$4.00	\$42,628.00	\$2.95	\$31,438.15	\$3.95	\$42,095.15	\$2.50	\$26,642.50	\$5.45	\$58,080.65	\$3.00	\$31,971.00
11	25000210	SEEDING, CLASS 2A	0.5	ACRE	\$2,000.00	\$1,000.00	\$2,600.00	\$1,300.00	\$2,540.00	\$1,270.00	\$2,420.00	\$1,210.00	\$2,878.05	\$1,439.03	\$5,000.00	\$2,500.00
12	25000310	SEEDING, CLASS 4	0.8	ACRE	\$2,500.00	\$2,000.00	\$3,800.00	\$3,040.00	\$2,540.00	\$2,032.00	\$2,420.00	\$1,936.00	\$2,917.95	\$2,334.36	\$5,000.00	\$4,000.00
13	25000400	NITROGEN FERTILIZER NUTRIENT	171.0	POUND	\$3.00	\$513.00	\$1.05	\$179.55	\$2.10	\$359.10	\$2.00	\$342.00	\$3.15	\$538.65	\$1.00	\$171.00
14	25000600	POTASSIUM FERTILIZER NUTRIENT	171.0	POUND	\$3.00	\$513.00	\$1.05	\$179.55	\$2.10	\$359.10	\$2.00	\$342.00	\$3.15	\$538.65	\$1.00	\$171.00
15	25100630	EROSION CONTROL BLANKET	6,051.0	SQ YD	\$3.00	\$18,153.00	\$1.05	\$6,353.55	\$1.30	\$7,866.30	\$1.25	\$7,563.75	\$3.15	\$19,060.65	\$1.00	\$6,051.00
16	25200110	SODDING, SALT TOLERANT	4,606.0	SQ YD	\$5.00	\$23,030.00	\$6.50	\$29,939.00	\$6.30	\$29,017.80	\$6.00	\$27,636.00	\$8.61	\$39,657.66	\$9.00	\$41,454.00
17	25200200	SUPPLEMENTAL WATERING	10.0	UNIT	\$300.00	\$3,000.00	\$55.00	\$550.00	\$0.10	\$1.00	\$0.10	\$1.00	\$52.50	\$525.00	\$1.00	\$10.00
18	28000250	TEMPORARY EROSION CONTROL SEEDING	221.0	POUND	\$2.00	\$442.00	\$2.00	\$442.00	\$0.10	\$22.10	\$0.10	\$22.10	\$3.36	\$742.56	\$1.00	\$221.00
19	28000305	TEMPORARY DITCH CHECKS	14.0	FOOT	\$20.00	\$280.00	\$13.75	\$192.50	\$15.75	\$220.50	\$15.00	\$210.00	\$12.60	\$176.40	\$25.00	\$350.00
20	28000400	PERIMETER EROSION BARRIER	2,585.0	FOOT	\$3.00	\$7,755.00	\$2.40	\$6,204.00	\$3.00	\$7,755.00	\$2.70	\$6,979.50	\$2.60	\$6,721.00	\$1.00	\$2,585.00
21	28000510	INLET FILTERS	22.0	EACH	\$200.00	\$4,400.00	\$150.00	\$3,300.00	\$150.00	\$3,300.00	\$175.00	\$3,850.00	\$206.85	\$4,550.70	\$25.00	\$550.00
22	28100101	STONE RIPRAP, CLASS A1	27.0	SQ YD	\$80.00	\$2,160.00	\$75.00	\$2,025.00	\$39.55	\$1,067.85	\$40.00	\$1,080.00	\$44.84	\$1,210.68	\$100.00	\$2,700.00
23	28100107	STONE RIPRAP, CLASS A4	22.0	SQ YD	\$90.00	\$1,980.00	\$115.00	\$2,530.00	\$70.55	\$1,552.10	\$80.00	\$1,760.00	\$49.56	\$1,090.32	\$125.00	\$2,750.00
24	28200200	FILTER FABRIC	33.0	SQ YD	\$15.00	\$495.00	\$4.00	\$132.00	\$2.00	\$66.00	\$3.00	\$99.00	\$2.36	\$77.88	\$10.00	\$330.00
25	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	6,887.0	SQ YD	\$16.00	\$110,192.00	\$13.45	\$92,630.15	\$14.60	\$100,550.20	\$16.00	\$110,192.00	\$14.57	\$100,343.59	\$13.00	\$89,531.00
26	35101600	AGGREGATE BASE COURSE, TYPE B 4"	162.0	SQ YD	\$25.00	\$4,050.00	\$9.00	\$1,458.00	\$10.00	\$1,620.00	\$10.00	\$1,620.00	\$6.43	\$1,041.66	\$5.00	\$810.00
27	35101800	AGGREGATE BASE COURSE, TYPE B 6"	2,459.0	SQ YD	\$7.50	\$18,442.50	\$7.45	\$18,319.55	\$9.80	\$24,098.20	\$12.00	\$29,508.00	\$7.35	\$18,073.65	\$7.00	\$17,213.00
28	40600275	BITUMINOUS MATERIALS (PRIME COAT)	22,928.0	POUND	\$0.25	\$5,732.00	\$0.01	\$229.28	\$0.01	\$229.28	\$0.01	\$229.28	\$0.11	\$2,522.08	\$0.01	\$229.28
29	40600625	LEVELING BINDER (MACHINE METHOD), N50	34.0	TON	\$180.00	\$6,120.00	\$154.00	\$5,236.00	\$158.00	\$5,372.00	\$154.00	\$5,236.00	\$161.70	\$5,497.80	\$125.00	\$4,250.00



Project: Petite Lake Road Reconstruction

Section: 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

Item No.	Pay Code	Description	Quantity	Unit	Eng Estir		Berger Excavating	Contractors	Campanella 8	Same Inc	Lake County Gra	dina Componi	Maneval Const	westian Co Inc	A Lamp Concrete	Contractors Inc
item No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
30	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	2,177.0	TON	\$70.00	\$152,390.00	\$57.35	\$124,850.95	\$58.80	\$128,007.60	\$57.35	\$124,850.95	\$60.22	\$131,098.94	\$80.00	\$174,160.00
31		HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	1,104.0	TON	\$110.00	\$121,440.00	\$80.60	\$88,982.40	\$82.65	\$91,245.60	\$80.60	\$88,982.40	\$84.63	\$93,431.52	\$85.00	\$93,840.00
32	42001300	PROTECTIVE COAT	1,353.0	SQ YD	\$2.00	\$2,706.00	\$0.01	\$13.53	\$4.05	\$5,479.65	\$0.01	\$13.53	\$0.84	\$1,136.52	\$2.00	\$2,706.00
33	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,340.0	SQ FT	\$5.00	\$6,700.00	\$5.25	\$7,035.00	\$5.55	\$7,437.00	\$5.55	\$7,437.00	\$4.67	\$6,257.80	\$6.00	\$8,040.00
34	42400800	DETECTABLE WARNINGS	140.0	SQ FT	\$30.00	\$4,200.00	\$29.35	\$4,109.00	\$30.75	\$4,305.00	\$32.00	\$4,480.00	\$47.25	\$6,615.00	\$25.00	\$3,500.00
35	44000100	PAVEMENT REMOVAL	3,714.0	SQ YD	\$12.00	\$44,568.00	\$10.00	\$37,140.00	\$10.95	\$40,668.30	\$14.00	\$51,996.00	\$16.16	\$60,018.24	\$15.00	\$55,710.00
36	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	1,416.0	SQ YD	\$8.00	\$11,328.00	\$5.40	\$7,646.40	\$5.55	\$7,858.80	\$5.40	\$7,646.40	\$9.03	\$12,786.48	\$4.00	\$5,664.00
37	44000200	DRIVEWAY PAVEMENT REMOVAL	526.0	SQ YD	\$7.00	\$3,682.00	\$8.45	\$4,444.70	\$7.90	\$4,155.40	\$5.00	\$2,630.00	\$11.55	\$6,075.30	\$15.00	\$7,890.00
38	44000500	COMBINATION CURB AND GUTTER REMOVAL	493.0	FOOT	\$6.00	\$2,958.00	\$4.50	\$2,218.50	\$9.35	\$4,609.55	\$6.00	\$2,958.00	\$6.35	\$3,130.55	\$4.00	\$1,972.00
39	44300200	STRIP REFLECTIVE CRACK CONTROL TREATMENT	261.0	FOOT	\$3.00	\$783.00	\$2.50	\$652.50	\$2.55	\$665.55	\$2.50	\$652.50	\$1.71	\$446.31	\$10.00	\$2,610.00
40	48101200	AGGREGATE SHOULDERS, TYPE B	77.0	TON	\$30.00	\$2,310.00	\$42.00	\$3,234.00	\$50.90	\$3,919.30	\$49.65	\$3,823.05	\$58.59	\$4,511.43	\$65.00	\$5,005.00
41	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	1.0	EACH	\$1,000.00	\$1,000.00	\$1,275.00	\$1,275.00	\$736.00	\$736.00	\$1,620.00	\$1,620.00	\$613.60	\$613.60	\$1,500.00	\$1,500.00
42	54213675	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 30"	1.0	EACH	\$1,600.00	\$1,600.00	\$1,650.00	\$1,650.00	\$1,350.00	\$1,350.00	\$2,160.00	\$2,160.00	\$1,085.60	\$1,085.60	\$3,000.00	\$3,000.00
43	54713681	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 36"	2.0	EACH	\$1,800.00	\$3,600.00	\$2,550.00	\$5,100.00	\$1,603.00	\$3,206.00	\$5,640.00	\$11,280.00	\$1,439.60	\$2,879.20	\$4,000.00	\$8,000.00
44	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	303.0	FOOT	\$44.00	\$13,332.00	\$40.00	\$12,120.00	\$40.35	\$12,226.05	\$55.00	\$16,665.00	\$67.26	\$20,379.78	\$60.00	\$18,180.00
45	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	297.0	FOOT	\$46.00	\$13,662.00	\$42.50	\$12,622.50	\$45.50	\$13,513.50	\$51.00	\$15,147.00	\$70.80	\$21,027.60	\$70.00	\$20,790.00
46	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	374.0	FOOT	\$50.00	\$18,700.00	\$51.00	\$19,074.00	\$46.55	\$17,409.70	\$54.00	\$20,196.00	\$81.42	\$30,451.08	\$80.00	\$29,920.00
47	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	45.0	FOOT	\$55.00	\$2,475.00	\$64.25	\$2,891.25	\$70.15	\$3,156.75	\$70.00	\$3,150.00	\$84.96	\$3,823.20	\$90.00	\$4,050.00
48	550A0140	STORM SEWERS, CLASS A, TYPE 1 30"	441.0	FOOT	\$60.00	\$26,460.00	\$76.25	\$33,626.25	\$69.15	\$30,495.15	\$86.00	\$37,926.00	\$126.26	\$55,680.66	\$110.00	\$48,510.00
49	550A0160	STORM SEWERS, CLASS A, TYPE 1 36"	31.0	FOOT	\$70.00	\$2,170.00	\$140.00	\$4,340.00	\$109.25	\$3,386.75	\$250.00	\$7,750.00	\$194.70	\$6,035.70		\$4,340.00
50	55100100	STORM SEWER REMOVAL 4"	33.0	FOOT	\$18.00	\$594.00	\$9.00	\$297.00	\$30.00	\$990.00	\$18.00	\$594.00	\$5.90	\$194.70	,	\$33.00
51	55100400	STORM SEWER REMOVAL 10"	21.0	FOOT	\$20.00	\$420.00	\$10.00	\$210.00	\$30.00	\$630.00	\$18.00	\$378.00	\$5.90	\$123.90		\$21.00
52		STORM SEWER REMOVAL 12"	81.0	FOOT	\$22.00	\$1,782.00	\$11.50	\$931.50	\$30.00	\$2,430.00	\$18.00	\$1,458.00	\$5.90	\$477.90		\$81.00
53		STORM SEWER REMOVAL 15"	113.0	FOOT	\$25.00	\$2,825.00	\$11.50	\$1,299.50	\$30.00	\$3,390.00	\$18.00	\$2,034.00	\$7.08			\$113.00
54		STORM SEWER REMOVAL 18"	20.0	FOOT	\$28.00	\$560.00	\$13.00	\$260.00	\$35.00	\$700.00	\$19.00	\$380.00	\$9.44	\$188.80		\$20.00
55	55101200	STORM SEWER REMOVAL 24"	219.0	FOOT	\$30.00	\$6,570.00	\$14.00	\$3,066.00	\$35.00	\$7,665.00	\$21.00	\$4,599.00	\$11.80	\$2,584.20	\$1.00	\$219.00



Project: Petite Lake Road Reconstruction

Section: 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

								_								
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti Unit Price	Extnd. Price	Berger Excavatin Unit Price	g Contractors Extnd. Price	Campanella 8 Unit Price	Extnd. Price	Lake County Gra	Extnd. Price	Maneval Const Unit Price	Extnd. Price	A Lamp Concrete Unit Price	Extnd. Price
56	55101600	STORM SEWER REMOVAL 36"	16.0	FOOT	\$36.00	\$576.00	\$45.00	\$720.00	\$40.00	\$640.00	\$30.00	\$480.00	\$14.16	\$226.56	\$1.00	\$16.00
57		PIPE DRAINS 4"	50.0	FOOT	\$20.00	\$1,000.00	\$30.00	\$1,500.00	\$44.90	\$2,245.00	\$20.00	\$1,000.00	\$21.24	\$1,062.00	\$30.00	\$1,500.00
58		PIPE DRAINS 6"	50.0	FOOT	\$30.00	\$1,500.00	\$33.00	\$1,650.00	\$46.40	\$2,320.00	\$20.00	\$1,000.00	\$25.96	\$1,298.00	\$35.00	\$1,750.00
59	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$2,500.00	\$2,500.00	\$2,150.00	\$2,150.00	\$2,030.00	\$2,030.00	\$2,600.00	\$2,600.00	\$1,296.82	\$1,296.82	\$2,650.00	\$2,650.00
60	602013//0	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	12.0	EACH	\$2,500.00	\$30,000.00	\$2,375.00	\$28,500.00	\$2,310.00	\$27,720.00	\$1,850.00	\$22,200.00	\$1,646.10	\$19,753.20	\$2,800.00	\$33,600.00
61	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	4.0	EACH	\$2,400.00	\$9,600.00	\$2,275.00	\$9,100.00	\$2,222.00	\$8,888.00	\$2,710.00	\$10,840.00	\$1,550.52	\$6,202.08	\$2,650.00	\$10,600.00
62	60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	3.0	EACH	\$3,000.00	\$9,000.00	\$2,750.00	\$8,250.00	\$3,148.00	\$9,444.00	\$3,100.00	\$9,300.00	\$1,863.22	\$5,589.66	\$3,500.00	\$10,500.00
63	60236200	INLETS, TYPE A, TYPE 8 GRATE	2.0	EACH	\$1,000.00	\$2,000.00	\$1,075.00	\$2,150.00	\$980.00	\$1,960.00	\$1,340.00	\$2,680.00	\$1,113.92	\$2,227.84	\$1,200.00	\$2,400.00
64	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	5.0	EACH	\$1,000.00	\$5,000.00	\$1,415.00	\$7,075.00	\$1,190.00	\$5,950.00	\$1,500.00	\$7,500.00	\$1,209.50	\$6,047.50	\$1,350.00	\$6,750.00
65	60255500	MANHOLES TO BE ADJUSTED	3.0	EACH	\$400.00	\$1,200.00	\$375.00	\$1,125.00	\$940.00	\$2,820.00	\$680.00	\$2,040.00	\$525.10	\$1,575.30	\$400.00	\$1,200.00
66	60500060	REMOVING INLETS	2.0	EACH	\$500.00	\$1,000.00	\$205.00	\$410.00	\$710.00	\$1,420.00	\$300.00	\$600.00	\$88.50	\$177.00	\$200.00	\$400.00
67	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	3,509.0	FOOT	\$26.00	\$91,234.00	\$20.00	\$70,180.00	\$21.00	\$73,689.00	\$23.80	\$83,514.20	\$23.99	\$84,180.91	\$27.50	\$96,497.50
68	61100500	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$30.00	\$3,000.00	\$18.75	\$1,875.00	\$96.50	\$9,650.00	\$70.00	\$7,000.00	\$59.00	\$5,900.00	\$1.00	\$100.00
69	67100100	MOBILIZATION	1.0	L SUM	\$72,500.00	\$72,500.00	\$58,500.00	\$58,500.00	\$7,750.00	\$7,750.00	\$125,672.47	\$125,672.47	\$109,000.00	\$109,000.00	\$180,000.00	\$180,000.00
70	70106800	CHANGEABLE MESSAGE SIGN	8.0	CAL MO	\$1,250.00	\$10,000.00	\$1,000.00	\$8,000.00	\$1,050.00	\$8,400.00	\$1,000.00	\$8,000.00	\$1,050.00	\$8,400.00	\$100.00	\$800.00
71	70300100	SHORT TERM PAVEMENT MARKING	375.0	FOOT	\$0.75	\$281.25	\$0.50	\$187.50	\$0.55	\$206.25	\$0.50	\$187.50	\$1.05	\$393.75	\$2.00	\$750.00
72	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	8,344.0	FOOT	\$0.40	\$3,337.60	\$0.25	\$2,086.00	\$0.27	\$2,252.88	\$0.25	\$2,086.00	\$0.21	\$1,752.24	\$0.20	\$1,668.80
73	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	375.0	FOOT	\$0.75	\$281.25	\$2.50	\$937.50	\$2.65	\$993.75	\$2.50	\$937.50	\$0.53	\$198.75	\$0.30	\$112.50
74	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	249.0	FOOT	\$1.50	\$373.50	\$3.15	\$784.35	\$3.30	\$821.70	\$4.50	\$1,120.50	\$4.73	\$1,177.77	\$8.00	\$1,992.00
75	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	152.0	FOOT	\$3.00	\$456.00	\$7.50	\$1,140.00	\$7.90	\$1,200.80	\$10.80	\$1,641.60	\$11.34	\$1,723.68	\$15.00	\$2,280.00
76	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	14.0	FOOT	\$5.00	\$70.00	\$15.00	\$210.00	\$15.75	\$220.50	\$21.60	\$302.40	\$22.68	\$317.52	\$25.00	\$350.00
77	78001110	PAINT PAVEMENT MARKING - LINE 4"	3,742.0	FOOT	\$1.50	\$5,613.00	\$0.50	\$1,871.00	\$0.55	\$2,058.10	\$0.54	\$2,020.68	\$0.57	\$2,132.94	\$0.20	\$748.40
78	78001120	PAINT PAVEMENT MARKING - LINE 5"	3,813.0	FOOT	\$1.00	\$3,813.00	\$0.63	\$2,402.19	\$0.70	\$2,669.10	\$0.67	\$2,554.71	\$0.70	\$2,669.10	\$0.30	\$1,143.90
79	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$500.00	\$2,500.00	\$75.00	\$375.00	\$470.00	\$2,350.00	\$10.00	\$50.00	\$262.50	\$1,312.50	\$10.00	\$50.00



Project: Petite Lake Road Reconstruction

Section: 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

Idama Na	Davi Carda	Description	O	Unit	F F		B 5				1.1.0					
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti Unit Price	Extnd. Price	Berger Excavatin Unit Price	Extnd. Price	Campanella 8 Unit Price	Extnd. Price	Lake County Gra Unit Price	Extnd. Price	Maneval Const Unit Price	Extnd. Price	A Lamp Concrete Unit Price	Extnd. Price
80	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	16,037.0	UNIT	\$1.00	\$16,037.00	\$1.00	\$16,037.00	\$1.00	\$16,037.00	\$1.00	\$16,037.00	\$1.00	\$16,037.00	\$1.00	\$16,037.00
81	LC200505	EROSION CONTROL MAT	67.0	SQ YD	\$8.00	\$536.00	\$12.00	\$804.00	\$10.50	\$703.50	\$10.00	\$670.00	\$14.16	\$948.72	\$25.00	\$1,675.00
82	LC500229	GRATING FOR CONCRETE FLARED END SECTION 30"	1.0	EACH	\$650.00	\$650.00	\$715.00	\$715.00	\$770.00	\$770.00	\$500.00	\$500.00	\$407.10	\$407.10	\$3,000.00	\$3,000.00
83	LC500230	GRATING FOR CONCRETE FLARED END SECTION 36"	2.0	EACH	\$700.00	\$1,400.00	\$985.00	\$1,970.00	\$920.00	\$1,840.00	\$600.00	\$1,200.00	\$708.00	\$1,416.00	\$3,500.00	\$7,000.00
84	LC600200	INSTALL SURVEY MONUMENTS	1.0	EACH	\$2,500.00	\$2,500.00	\$1.00	\$1.00	\$500.00	\$500.00	\$750.00	\$750.00	\$1,307.25	\$1,307.25	\$3,000.00	\$3,000.00
85	X0325425	REMOVE AND RESET POWER POLE	1.0	EACH	\$12,000.00	\$12,000.00	\$8,995.00	\$8,995.00	\$9,445.00	\$9,445.00	\$8,995.00	\$8,995.00	\$5,250.00	\$5,250.00	\$6,500.00	\$6,500.00
86	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	867.0	CU YD	\$30.00	\$26,010.00	\$47.25	\$40,965.75	\$43.80	\$37,974.60	\$40.00	\$34,680.00	\$34.22	\$29,668.74	\$65.00	\$56,355.00
87	X2800500	INLET PROTECTION, SPECIAL	9.0	EACH	\$75.00	\$675.00	\$120.00	\$1,080.00	\$250.00	\$2,250.00	\$300.00	\$2,700.00	\$147.50	\$1,327.50	\$250.00	\$2,250.00
88	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	9.0	EACH	\$400.00	\$3,600.00	\$375.00	\$3,375.00	\$1,004.00	\$9,036.00	\$900.00	\$8,100.00	\$531.00	\$4,779.00	\$300.00	\$2,700.00
89	X4023000	TEMPORARY ACCESS (ROAD)	2.0	EACH	\$800.00	\$1,600.00	\$700.00	\$1,400.00	\$3,296.00	\$6,592.00	\$6,200.00	\$12,400.00	\$1,115.10	\$2,230.20	\$500.00	\$1,000.00
90	X5420636	PIPE CULVERTS TO BE CLEANED 36"	50.0	FOOT	\$35.00	\$1,750.00	\$20.00	\$1,000.00	\$80.00	\$4,000.00	\$50.00	\$2,500.00	\$14.16	\$708.00	\$50.00	\$2,500.00
91	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	3,597.0	FOOT	\$11.00	\$39,567.00	\$4.00	\$14,388.00	\$3.80	\$13,668.60	\$3.00	\$10,791.00	\$4.25	\$15,287.25	\$20.00	\$71,940.00
92	X6024240	INLETS, SPECIAL	2.0	EACH	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$2,050.00	\$4,100.00	\$7,500.00	\$15,000.00	\$1,469.10	\$2,938.20	\$1,500.00	\$3,000.00
93	X6026500	MANHOLES, DROP TYPE, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$5,000.00	\$5,000.00	\$14,500.00	\$14,500.00	\$5,610.00	\$5,610.00	\$13,400.00	\$13,400.00	\$9,735.00	\$9,735.00	\$13,500.00	\$13,500.00
94	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	10.0	CAL MO	\$1,750.00	\$17,500.00	\$1,825.00	\$18,250.00	\$2,200.00	\$22,000.00	\$1,000.00	\$10,000.00	\$1,770.00	\$17,700.00	\$1,000.00	\$10,000.00
95	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$45,000.00	\$45,000.00	\$35,000.00	\$35,000.00	\$16,432.00	\$16,432.00	\$32,000.00	\$32,000.00	\$134,138.00	\$134,138.00	\$200,000.00	\$200,000.00
96	XX001877	SUMP PUMP LINE CONNECTION	3.0	EACH	\$800.00	\$2,400.00	\$650.00	\$1,950.00	\$925.00	\$2,775.00	\$1,330.00	\$3,990.00	\$1,469.10	\$4,407.30	\$1,500.00	\$4,500.00
97	XX003668	PRECONSTRUCTION VIDEO TAPING	1.0	L SUM	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,250.00	\$1,250.00	\$1,500.00	\$1,500.00	\$1,575.00	\$1,575.00	\$10,000.00	\$10,000.00
98	XX006658	FLOCCULATION LOGS	5.0	EACH	\$200.00	\$1,000.00	\$190.00	\$950.00	\$175.00	\$875.00	\$230.00	\$1,150.00	\$78.75	\$393.75	\$500.00	\$2,500.00
99	XX006659	FLOCCULATION POWDER	15.0	POUND	\$50.00	\$750.00	\$25.00	\$375.00	\$36.70	\$550.50	\$35.00	\$525.00	\$10.50	\$157.50	\$50.00	\$750.00
100	XX006698	TREE PROTECTION AND PRESERVATION	25.0	EACH	\$130.00	\$3,250.00	\$125.00	\$3,125.00	\$165.00	\$4,125.00	\$300.00	\$7,500.00	\$78.75	\$1,968.75	\$250.00	\$6,250.00
101		PERMEABLE PLASTIC BERM	28.0	FOOT	\$30.00	\$840.00	\$27.00	\$756.00	\$21.00	\$588.00	\$20.00	\$560.00	\$12.60	\$352.80	\$50.00	\$1,400.00
102	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$15,000.00	\$15,000.00	\$6,800.00	\$6,800.00	\$15,300.00	\$15,300.00	\$50,000.00	\$50,000.00	\$31,442.25	\$31,442.25	\$35,000.00	\$35,000.00
103	Z0019400	DRY RUBBLE STONE OR BROKEN CONCRETE TREE WELLS	5.0	CU YD	\$400.00	\$2,000.00	\$465.00	\$2,325.00	\$840.00	\$4,200.00	\$800.00	\$4,000.00	\$1,475.00	\$7,375.00	\$250.00	\$1,250.00



Project: Petite Lake Road Reconstruction

Section: 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

CPMS Pin: B-00908 Let Date: 2/17/2015

	1															
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Berger Excavatir	ng Contractors	Campanella 8	Sons, Inc.	Lake County Gra	ading Company	Maneval Const	ruction Co Inc.	A Lamp Concrete	Contractors, Inc.
					Unit Price	Extnd. Price	Unit Price	Unit Price Extnd. Price Unit Pric		Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
104	Z0019600	DUST CONTROL WATERING	5.0	UNIT	\$150.00	\$750.00	\$50.00	\$250.00	\$240.00	\$1,200.00	\$200.00	\$1,000.00	\$590.00	\$2,950.00	\$1.00	\$5.00
105	Z0030850	TEMPORARY INFORMATION SIGNING	150.0	SQ FT	\$20.00	\$3,000.00	\$14.00	\$2,100.00	\$15.00	\$2,250.00	\$14.00	\$2,100.00	\$6.30	\$945.00	\$25.00	\$3,750.00
106	Z0055905	TEMPORARY CONSTRUCTION FENCE	1,415.0	FOOT	\$5.00	\$7,075.00	\$4.95	\$7,004.25	\$4.20	\$5,943.00	\$4.00	\$5,660.00	\$4.20	\$5,943.00	\$1.00	\$1,415.00
	Bid Total			\$1,435,316.10		\$1,151,010.28		\$1,228,164.69		\$1,350,000.00		\$1,525,766.79		\$1,780,096.38		

CODEF Version 0.0.965 Page 6 2/17/2015



Project: Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	588	UNIT	\$12.00	\$7,056.00	\$18.00	\$22.00	\$19.16
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	423	UNIT	\$18.00	\$7,614.00	\$25.00	\$29.40	\$27.96
3	20101200	TREE ROOT PRUNING	30	EACH	\$75.00	\$2,250.00	\$50.00	\$84.00	\$75.60
4	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	20	EACH	\$40.00	\$800.00	\$50.00	\$84.00	\$75.60
5	20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	10	EACH	\$50.00	\$500.00	\$50.00	\$147.00	\$124.80
6	20200100	EARTH EXCAVATION	5,006	CU YD	\$25.00	\$125,150.00	\$22.00	\$40.00	\$30.55
7	20400800	FURNISHED EXCAVATION	3,448	CU YD	\$25.00	\$86,200.00	\$0.01	\$4.28	\$1.06
8	20800150	TRENCH BACKFILL	238	CU YD	\$60.00	\$14,280.00	\$28.00	\$49.56	\$39.79
9	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	7,520	SQ YD	\$2.00	\$15,040.00	\$1.00	\$2.00	\$1.48
10	21101615	TOPSOIL FURNISH AND PLACE, 4"	10,657	SQ YD	\$4.00	\$42,628.00	\$2.50	\$5.45	\$3.57
11	25000210	SEEDING, CLASS 2A	1	ACRE	\$2,000.00	\$1,000.00	\$2,420.00	\$5,000.00	\$3,087.61
12	25000310	SEEDING, CLASS 4	1	ACRE	\$2,500.00	\$2,000.00	\$2,420.00	\$5,000.00	\$3,335.59
13	25000400	NITROGEN FERTILIZER NUTRIENT	171	POUND	\$3.00	\$513.00	\$1.00	\$3.15	\$1.86
14	25000600	POTASSIUM FERTILIZER NUTRIENT	171	POUND	\$3.00	\$513.00	\$1.00	\$3.15	\$1.86
15	25100630	EROSION CONTROL BLANKET	6,051	SQ YD	\$3.00	\$18,153.00	\$1.00	\$3.15	\$1.55
16	25200110	SODDING, SALT TOLERANT	4,606	SQ YD	\$5.00	\$23,030.00	\$6.00	\$9.00	\$7.28



**Project:** Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
17	25200200	SUPPLEMENTAL WATERING	10	UNIT	\$300.00	\$3,000.00	\$0.10	\$55.00	\$21.74
18	28000250	TEMPORARY EROSION CONTROL SEEDING	221	POUND	\$2.00	\$442.00	\$0.10	\$3.36	\$1.31
19	28000305	TEMPORARY DITCH CHECKS	14	FOOT	\$20.00	\$280.00	\$12.60	\$25.00	\$16.42
20	28000400	PERIMETER EROSION BARRIER	2,585	FOOT	\$3.00	\$7,755.00	\$1.00	\$3.00	\$2.34
21	28000510	INLET FILTERS	22	EACH	\$200.00	\$4,400.00	\$25.00	\$206.85	\$141.37
22	28100101	STONE RIPRAP, CLASS A1	27	SQ YD	\$80.00	\$2,160.00	\$39.55	\$100.00	\$59.88
23	28100107	STONE RIPRAP, CLASS A4	22	SQ YD	\$90.00	\$1,980.00	\$49.56	\$125.00	\$88.02
24	28200200	FILTER FABRIC	33	SQ YD	\$15.00	\$495.00	\$2.00	\$10.00	\$4.27
25	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	6,887	SQ YD	\$16.00	\$110,192.00	\$13.00	\$16.00	\$14.32
26	35101600	AGGREGATE BASE COURSE, TYPE B 4"	162	SQ YD	\$25.00	\$4,050.00	\$5.00	\$10.00	\$8.09
27	35101800	AGGREGATE BASE COURSE, TYPE B 6"	2,459	SQ YD	\$7.50	\$18,442.50	\$7.00	\$12.00	\$8.72
28	40600275	BITUMINOUS MATERIALS (PRIME COAT)	22,928	POUND	\$0.25	\$5,732.00	\$0.01	\$0.11	\$0.03
29	40600625	LEVELING BINDER (MACHINE METHOD), N50	34	TON	\$180.00	\$6,120.00	\$125.00	\$161.70	\$150.54
30	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	2,177	TON	\$70.00	\$152,390.00	\$57.35	\$80.00	\$62.74
31	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	1,104	TON	\$110.00	\$121,440.00	\$80.60	\$85.00	\$82.70



**Project:** Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
32	42001300	PROTECTIVE COAT	1,353	SQ YD	\$2.00	\$2,706.00	\$0.01	\$4.05	\$1.38
33	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,340	SQ FT	\$5.00	\$6,700.00	\$4.67	\$6.00	\$5.40
34	42400800	DETECTABLE WARNINGS	140	SQ FT	\$30.00	\$4,200.00	\$25.00	\$47.25	\$32.87
35	44000100	PAVEMENT REMOVAL	3,714	SQ YD	\$12.00	\$44,568.00	\$10.00	\$16.16	\$13.22
36	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	1,416	SQ YD	\$8.00	\$11,328.00	\$4.00	\$9.03	\$5.88
37	44000200	DRIVEWAY PAVEMENT REMOVAL	526	SQ YD	\$7.00	\$3,682.00	\$5.00	\$15.00	\$9.58
38	44000500	COMBINATION CURB AND GUTTER REMOVAL	493	FOOT	\$6.00	\$2,958.00	\$4.00	\$9.35	\$6.04
39	44300200	STRIP REFLECTIVE CRACK CONTROL TREATMENT	261	FOOT	\$3.00	\$783.00	\$1.71	\$10.00	\$3.85
40	48101200	AGGREGATE SHOULDERS, TYPE B	77	TON	\$30.00	\$2,310.00	\$42.00	\$65.00	\$53.23
41	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	1	EACH	\$1,000.00	\$1,000.00	\$613.60	\$1,620.00	\$1,148.92
42	54213675	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 30"	1	EACH	\$1,600.00	\$1,600.00	\$1,085.60	\$3,000.00	\$1,849.12
43	54213681	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 36"	2	EACH	\$1,800.00	\$3,600.00	\$1,439.60	\$5,640.00	\$3,046.52
44	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	303	FOOT	\$44.00	\$13,332.00	\$40.00	\$67.26	\$52.52



**Project:** Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
45	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	297	FOOT	\$46.00	\$13,662.00	\$42.50	\$70.80	\$55.96
46	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	374	FOOT	\$50.00	\$18,700.00	\$46.55	\$81.42	\$62.59
47	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	45	FOOT	\$55.00	\$2,475.00	\$64.25	\$90.00	\$75.87
48	550A0140	STORM SEWERS, CLASS A, TYPE 1 30"	441	FOOT	\$60.00	\$26,460.00	\$69.15	\$126.26	\$93.53
49	550A0160	STORM SEWERS, CLASS A, TYPE 1 36"	31	FOOT	\$70.00	\$2,170.00	\$109.25	\$250.00	\$166.79
50	55100100	STORM SEWER REMOVAL 4"	33	FOOT	\$18.00	\$594.00	\$1.00	\$30.00	\$12.78
51	55100400	STORM SEWER REMOVAL 10"	21	FOOT	\$20.00	\$420.00	\$1.00	\$30.00	\$12.98
52	55100500	STORM SEWER REMOVAL 12"	81	FOOT	\$22.00	\$1,782.00	\$1.00	\$30.00	\$13.28
53	55100700	STORM SEWER REMOVAL 15"	113	FOOT	\$25.00	\$2,825.00	\$1.00	\$30.00	\$13.52
54	55100900	STORM SEWER REMOVAL 18"	20	FOOT	\$28.00	\$560.00	\$1.00	\$35.00	\$15.49
55	55101200	STORM SEWER REMOVAL 24"	219	FOOT	\$30.00	\$6,570.00	\$1.00	\$35.00	\$16.56
56	55101600	STORM SEWER REMOVAL 36"	16	FOOT	\$36.00	\$576.00	\$1.00	\$45.00	\$26.03
57	60100905	PIPE DRAINS 4"	50	FOOT	\$20.00	\$1,000.00	\$20.00	\$44.90	\$29.23
58	60100915	PIPE DRAINS 6"	50	FOOT	\$30.00	\$1,500.00	\$20.00	\$46.40	\$32.07
59	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1	EACH	\$2,500.00	\$2,500.00	\$1,296.82	\$2,650.00	\$2,145.36
60	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	12	EACH	\$2,500.00	\$30,000.00	\$1,646.10	\$2,800.00	\$2,196.22
61	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	4	EACH	\$2,400.00	\$9,600.00	\$1,550.52	\$2,710.00	\$2,281.50



**Project:** Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
62	60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	3	EACH	\$3,000.00	\$9,000.00	\$1,863.22	\$3,500.00	\$2,872.24
63	60236200	INLETS, TYPE A, TYPE 8 GRATE	2	EACH	\$1,000.00	\$2,000.00	\$980.00	\$1,340.00	\$1,141.78
64	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	5	EACH	\$1,000.00	\$5,000.00	\$1,190.00	\$1,500.00	\$1,332.90
65	60255500	MANHOLES TO BE ADJUSTED	3	EACH	\$400.00	\$1,200.00	\$375.00	\$940.00	\$584.02
66	60500060	REMOVING INLETS	2	EACH	\$500.00	\$1,000.00	\$88.50	\$710.00	\$300.70
67	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	3,509	FOOT	\$26.00	\$91,234.00	\$20.00	\$27.50	\$23.26
68	61100500	EXPLORATION TRENCH 52" DEPTH	100	FOOT	\$30.00	\$3,000.00	\$1.00	\$96.50	\$49.05
69	67100100	MOBILIZATION	1	L SUM	\$72,500.00	\$72,500.00	\$7,750.00	\$180,000.00	\$96,184.49
70	70106800	CHANGEABLE MESSAGE SIGN	8	CAL MO	\$1,250.00	\$10,000.00	\$100.00	\$1,050.00	\$840.00
71	70300100	SHORT TERM PAVEMENT MARKING	375	FOOT	\$0.75	\$281.25	\$0.50	\$2.00	\$0.92
72	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	8,344	FOOT	\$0.40	\$3,337.60	\$0.20	\$0.27	\$0.24
73	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	375	FOOT	\$0.75	\$281.25	\$0.30	\$2.65	\$1.70
74	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	249	FOOT	\$1.50	\$373.50	\$3.15	\$8.00	\$4.74
75	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	152	FOOT	\$3.00	\$456.00	\$7.50	\$15.00	\$10.51



**Project:** Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
76	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	14	FOOT	\$5.00	\$70.00	\$15.00	\$25.00	\$20.01
77	78001110	PAINT PAVEMENT MARKING - LINE 4"	3,742	FOOT	\$1.50	\$5,613.00	\$0.20	\$0.57	\$0.47
78	78001120	PAINT PAVEMENT MARKING - LINE 5"	3,813	FOOT	\$1.00	\$3,813.00	\$0.30	\$0.70	\$0.60
79	LC200051	REJECTED LOAD TRANSPORTATION	5	LOAD	\$500.00	\$2,500.00	\$10.00	\$470.00	\$165.50
80	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	16,037	UNIT	\$1.00	\$16,037.00	\$1.00	\$1.00	\$1.00
81	LC200505	EROSION CONTROL MAT	67	SQ YD	\$8.00	\$536.00	\$10.00	\$25.00	\$14.33
82	LC500229	GRATING FOR CONCRETE FLARED END SECTION 30"	1	EACH	\$650.00	\$650.00	\$407.10	\$3,000.00	\$1,078.42
83	LC500230	GRATING FOR CONCRETE FLARED END SECTION 36"	2	EACH	\$700.00	\$1,400.00	\$600.00	\$3,500.00	\$1,342.60
84	LC600200	INSTALL SURVEY MONUMENTS	1	EACH	\$2,500.00	\$2,500.00	\$1.00	\$3,000.00	\$1,111.65
85	X0325425	REMOVE AND RESET POWER POLE	1	EACH	\$12,000.00	\$12,000.00	\$5,250.00	\$9,445.00	\$7,837.00
86	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	867	CU YD	\$30.00	\$26,010.00	\$34.22	\$65.00	\$46.05
87	X2800500	INLET PROTECTION, SPECIAL	9	EACH	\$75.00	\$675.00	\$120.00	\$300.00	\$213.50
88	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	9	EACH	\$400.00	\$3,600.00	\$300.00	\$1,004.00	\$622.00
89	X4023000	TEMPORARY ACCESS (ROAD)	2	EACH	\$800.00	\$1,600.00	\$500.00	\$6,200.00	\$2,362.22



**Project:** Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

		_			Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
90	X5420636	PIPE CULVERTS TO BE CLEANED 36"	50	FOOT	\$35.00	\$1,750.00	\$14.16	\$80.00	\$42.83
91	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	3,597	FOOT	\$11.00	\$39,567.00	\$3.00	\$20.00	\$7.01
92	X6024240	INLETS, SPECIAL	2	EACH	\$3,000.00	\$6,000.00	\$1,469.10	\$7,500.00	\$3,003.82
93	X6026500	MANHOLES, DROP TYPE, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1	EACH	\$5,000.00	\$5,000.00	\$5,610.00	\$14,500.00	\$11,349.00
94	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	10	CAL MO	\$1,750.00	\$17,500.00	\$1,000.00	\$2,200.00	\$1,559.00
95	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	L SUM	\$45,000.00	\$45,000.00	\$16,432.00	\$200,000.00	\$83,514.00
96	XX001877	SUMP PUMP LINE CONNECTION	3	EACH	\$800.00	\$2,400.00	\$650.00	\$1,500.00	\$1,174.82
97	XX003668	PRECONSTRUCTION VIDEO TAPING	1	L SUM	\$2,000.00	\$2,000.00	\$1,250.00	\$10,000.00	\$3,265.00
98	XX006658	FLOCCULATION LOGS	5	EACH	\$200.00	\$1,000.00	\$78.75	\$500.00	\$234.75
99	XX006659	FLOCCULATION POWDER	15	POUND	\$50.00	\$750.00	\$10.50	\$50.00	\$31.44
100	XX006698	TREE PROTECTION AND PRESERVATION	25	EACH	\$130.00	\$3,250.00	\$78.75	\$300.00	\$183.75
101	XX008865	PERMEABLE PLASTIC BERM	28	FOOT	\$30.00	\$840.00	\$12.60	\$50.00	\$26.12
102	Z0013798	CONSTRUCTION LAYOUT	1	L SUM	\$15,000.00	\$15,000.00	\$6,800.00	\$50,000.00	\$27,708.45
103	Z0019400	DRY RUBBLE STONE OR BROKEN CONCRETE TREE WELLS	5	CU YD	\$400.00	\$2,000.00	\$250.00	\$1,475.00	\$766.00
104	Z0019600	DUST CONTROL WATERING	5	UNIT	\$150.00	\$750.00	\$1.00	\$590.00	\$216.20



**Project:** Petite Lake Road Reconstruction

**Section:** 10-00181-05-RS

**Description:** Reconstruct & Widen Existing Roadway

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
105	Z0030850	TEMPORARY INFORMATION SIGNING	150 SQ FT		\$20.00	\$3,000.00	\$6.30	\$25.00	\$14.86
106	Z0055905	TEMPORARY CONSTRUCTION FENCE	1,415 FOOT		\$5.00	\$7,075.00	\$1.00	\$4.95	\$3.67
		Bid Tota	Bid Total			\$1,435,316.10			